15 (2003 )
10 (1998 ) 10 2003
2010
1998
1990 12 2010 1990 35
A C 3

A 1998

B 1998

C B

§ 4-2



1,800

1,600

(10°t- C)

1,400

1,200

1,000

2003 1998 10
4-2-1.
(10°t-C)
A
2003
B 1998
114.57
2003
C
251.82
1 A
2
3 2
1,647.43‘4’.
2
1,487.08
’ 1,432.29 > ) A
1,372.51
1,335.18 B B

1
1,220.60

_. d
1235.26
3
1147.36
1990 1995 2000 2003 2010
4-2-1.

§ 4-3




1,800

1,600

(10°t- ©)

1,400

1,200

1,000

2010 1990 6

4-2-2.
(10°t-0)
D
c-1
2003
C-2
87.90

1

2

3 2

1,647.43“’.
B 2
1,487.08
2 e
1,432.29 @
2 e
i 1 1,372.51
1,335.18
1
1,220.60

IG ( 1235.26

C-2
1147.36

1990 1995 1998 2000 2003

4-2-2.

§ 4-4

2010




